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Al s E9 (NO. ) AEAHATA: Z|EAAA: A LA 72 £
A BEEF: Z (= H$-71) Al o) g 1A Al 2 A5
NEH5FY: 2016.3.7. A= AAHA AlBZAHY:
24 % Density 3.721 g/a 2AAF P.1 4.6 H A1 0.M.C 8.6 (%)
MA3A Liquid Limit  23.0 (%) =A=A=<=8 R  10.7 (%) ANANF(NHEEHE) 28.5 (%)
2487 Plastic Limit  18.4 (%Kfﬂﬁfaj\ 2.047 g/ AAT] 0.4 (%)
A7FESEx%
PERCENT PASSING OF
STEVTE ANAIYSTS
A o] A.7] 5 9 &
A 72 = ;A (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 -
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- 37.5 -
5 26.5 -
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- 19 -
= 9.5 -
i 4.75 -
- 2.0 -
0 0.425 -
g 7 0.08 -
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o A|EH ks F 2306:2000 o 7NEANYA HEPY L¥
A TC R o A W A AKAN 5
Al 58 W = 1
W 1250.8 DW: W DW: W N
DV: 1151.4 TW:  207.5|Di: ™W: :Dw: ™W:
Ww: 99.4 Ws:  943.9|Ww: Ws: [Ww: Ws:
W 10.5 W i W
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Al w5 W 3 ! i
W DY i : D i : DIy
DW: ™W: :Dw: ™W: :Dw: ™W:
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o AWy ¢ KS F 2312:2001 o 7l&HNUA i med #H LY
o AlAFEE 1 EZ(HH9-7]) oA g A gse A
= AN 8 BT 2206.55 o AT 5967.1 g
8 2206.55 ci 5967.1 g
2] % 0 3.721
(A Z+E=) A (2) 1 | 10593.4 o | 107975 I3 | 10882.2
I I
RN B T (g) 4626.3 i 4830.4 i 4915.1
AOWE Y t(g/cr) 2.097 i 2.189 i 2.298
Ww: | 1397.2|DW: lWw: | 1364.8|DW: W : 1302.5/DW: |
DW: | 1334.9|TW: | 206.1jDW: | 1278.9|TW:| 175.7|DW: 1211.6|TW: 172.5
Ww: 62.3 Ws:  1128.8l: 85.9 Ws:  1103.2|Ww: 90.9 Ws:  1039.1,
W: 5.5 W: 7.8 W: 8.7
3 o 5 A ! !
Ww: | 1129.4/DV: lyw: | 1330.9|DW: W : 1306.0|DW: |
DW: | 1077.4|TW: | 184.2 |DW: | 1251.3|TW:| 206.2[DW: 1211.6/TW: | 179.7]
T 52 Ws:  893.2)Ww: 79.6Ws:  1045.1{Ww: 94.4 Ws:  1031.9
W: 5.8! W: 7.6 W: 9.1!
I
B gl Wi%) 5.7 i 7.7 i 8.9
Az = Yd(g/ar) 1.984 | 2.033 | 2.045
d 57 35 A | |
Az 9 2 g/a) S t-— s —-— A ]
(N Z4+E=) T (g) 4 10897.8[ L5 ] 10906.3 ! ] 10931.2
A2 A 7FA () 4930.7 i 4939.2 i 4964.1
AT Yt (g/en) 2.235 | 2.238 | 2.250
WW: | 1186.5|DW: lyw: | 1132.9|DW: W : 1415.8|DV:
DW: | 1079.9| 204| 177.9|DW: | 1028.7|TW:| 197.8|DW: 1256.3|TW: 180.6
fw:  106.6Ws:  902.0Ww: 104.2 Ws:  830.9|Ww: 159.5Ws:  1075.7
W: 11.8; W: 12.5! W: 14.8!
g 4 " 5 A !
Ww: | 1320.6/DW: byw: [ 1279.3|pW: W : 1367.8|DV:
DW: | 1203.5/Tv: | 180.3IDW: | 1158.6|TW: | 206.3[DV: 1210.6|TW: 179.9
Ww:  117.1Ws:  1023.2[Ww: 120.7 Ws:  952.3|Ww: 157.2 Ws:  1030.7
W: 11.4 W: 12.7 W: 15.3)
Bt gl W) 11.6 i 12.6 i 15.1
A2 % Yd(g/an) 2.002 | 1.988 | 1.955
9 37 =5 g
52w e e 2.599 2.533 2.382
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P E9 o AlgAz  2016.3.9.
T KS F 2309:2004 o 71&AYA HEH 2 2
D E(=H]) o A B A A=Y ==

N71de] AxFA(g] A5 AxFA(g) &A% (2)0.08mA] &= (%

B C A
W+-71 2 A B-C B-C
—X 100
2545 .9 3296.6 1476.7 B

1819.9 726.0 28.5%




9 2= AE

T E9
M KS F 2308:2006
%

F (A5 $7])

o 71 HeH 7 SE

oA @ A Asd

= 2 ] ke 1 2 H] L
v & H 9 H ol 23 41
H o % Wt (g) 81.720 76.400
H W + /75 Wai (g) 330.230]  326.020
Waig @3S wo] == Ti(TC) 15.9 15.9
L x(CO) A v &0 I @
Sw Ti(C) o W Zo] Wi 0.989930| 0.989930
Wai - Wf (g) ® 248 .510 249.62
Aol 2%(Tx)ol tigt 3 A %w]H
=
fmol e Wax (g) = @ x 327.727|  323.506
2.9 F A F
HFH + =1F2A 8 + B T%F
1573 ] =T ee 346.140 | 341.960
Wh(g)
s SA4T o] JaxmHe
Y82 & Tx(T) 82 .
xR AR T Wo (g) 25.080 25.130
T(C)Y wo Wo
59 HlF = 3.762 3.764
(TC / TC) o + (Wax - Wb)

2L tgt 5o W (g/cn) 0.98890[  0.98890

E 9 9 Z=(g/cr) 3.720 3.722
g 4 # 3.721 (g/cxt)
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SAYTAME(H2H AE)

o AF/E  EY o Algda  2016.3.10.
o AgHy : KS F 2302:2002 o 7]%&AA FH2E 2
O AMFFE - Z(FHH 7)) o A H A PSS
. NO.10KI Ol 22 AlBE 28 A
~ 29 ZIIHE=2
MANES 2AAZ2H W) CAEAIZ AI22A (W)
ANE
e (HHZIAZAIE+ET]) 3810.9 (WI+E1) 2l 1,447.7 ¢
212 745.2 2712 745.2 g
HHAIEO ZIIAELHMW) 3065.7 W1 702.5 g
1. 2mmil SUAIZQ &2H =F
NO 1 NO 2
W 848.0 W 764.1
Dw 773.8 Tw 179.3  Dw 699.7  Tw 180.6
W 74.2  Ws 594.5 W 64.4  Ws 519.1
W= 12.5% = 12.4%
HoE4Hl 12.4%
2. BHIAEZAIZLAMWO) = W/ (1+w) 2726.4
3. 2mmAl SUAEAIZ2H W)= W2=W0-W1 2023.9 g 2023.9
4. P2.0(2Y2.0mOIAS JHESDHE)= W2/Wo 74.2% 65.3%
5. 2mmAI 0l £ AI2o HMES
H At 1 2 1 2=1/W0
- a o g2+ geAz o =0 pJE= IHA s
Mo poleg 8IS | g5e5)| =g | @7FE*| mse | as
75..0mm 1 437.10 437.10 0.00 | 0.0% 0.0% | 100.0%
53. 0mm 2 461.90 461.90 0.00 | 0.0% 0.0% | 100.0%
37.5mm 3 471.60 471.60 0.00 | 0.0% 0.0% | 100.0%
26.5mm | 4 469.50 524.90 55.40 | 2.0% 2.0% 98.0%
19..0mm 5 456.80 492.40 35.60 | 1.3% 3.3% 96.7%
9.5mm 6 489.70 611.20 121.50 | 4.5% 7.8% 92.2%
4. 75mm 7 524..00 697.90 173.90 | 6.4% 14.2% | 85.8%
2.0mm 8 448.90 765.00 | 316.10 | 11.6% | 25.8% | 74.2%
* AZANZ 2N : 702.50 g




£o| ATAIE(2.0mH SHE 24)
o A¥HT 1 E9 o AlddxAt 2016.3.10.
o AW KS F 2302:2002 7=zt - F2E % 4
° NFES 1 Z(H$]) o Al B 2 ASy 4 57
(ZBIAZTAIZH+ZD)2A 692.59 ¢ £9|8Hl(w) : 10.4%
SI|2H : 577.00 ¢ g0l (Gs) : 3.721
SIHHAZASZ2H Ws : 115.59 ¢ AMEKXLE (PI) 4.6 = b&HA AHMLUES
HAXAIZE2H : Ws=100W; /(100+w) : 115.47 g
P2.0(2d2.0mmH e INEENUS: 74.2%
1. BIAAEXANZY &4Hl SH(XAE$H])
NO : 1 NO : 2 NO : 3
W = 1250.8 W = 1240.9 W =
oW = 1151.4  Tw = 207.5 oW = 1144.7 Tw = 207.4 oW = Tw =
Ww = 99.4 Ws = 943.9 Ww = 96.2 Ws = 937.3 Ww = Ws =
W= 10.5% W= 10.3% W=
s =il 10.4%
2. HISH AE
== Z LAl 2H HEHAS ZCHAAHD(mm) 2l 2 S N il A ‘ meo| 2O
SN i) [ZxeE [ 7 Jmesoim] U1 T Vit | JGn/absmw [E0e@Eom] oNTE  [EEATR) rH PIESAE) Lo
8:01 1 0.0260] 0.0260 119.1 119.1 10.9128 0.0031 0.0341 25 0.0020f 0.0280 33.1% 22.3%
8:02 2 0.0245] 0.0245 122.0 61.0 7.8099 0.0031 0.0244 25 0.0020f 0.0265 31.3% 21.2%
8:05 5 0.0210] 0.0210 128.8 25.8 5.0747 0.0031 0.0159 25 0.0020f 0.0230 27.2% 18.5%
8:15 15 0.0175] 0.0175 135.5 9.0 3.0059 0.0031 0.0094 25 0.0020f 0.0195 23.1% 15.8%
8:30 30 0.0160] 0.0160 138.4 4.6 2.1481 0.0031 0.0067 25 0.0020f 0.0180 21.3% 14.6%
9:00 60 0.0145] 0.0145 141.3 2.4 1.5348 0.0031 0.0048 25 0.0020f 0.0165 19.5% 13.5%
12:00 240 0.0120] 0.0120 146 .2 0.6 0.7804 0.0031 0.0024 25 0.0020f 0.0140 16.6% 11.5%
8:00 1440 0.0100] 0.0100 150.0 0.1 0.3228 0.0031 0.0010 25 0.0020f 0.0120 14..2% 10.0%
HLIAHAS EF (Cm) 0.0009 [1:2H 229 IZHA =24&1.0009HX122 0l (mm) 107.59
Ws/V (g/cm) : SEH 1me & HAXAIZ 2 12:8E 28 220 i—%ﬁ 1.0507t X1 21 2 01 (mm) 10.87
Lb : = 2229 20l (mm) 136.84
1/(Ws/V): 8.66 cm/g Gs/(Gs—0.99678) *rw 1.366 g/om Vb : F.’—E 229 21 (o) 57.50
A HAABIHO SHEHA (o) 58.84
3. Mot
Hl & 1 2 3=2-1 4=3/Ws 5 6 7=6%P2.0
- = H2AS+ | ©2A2
A Yz |82 25 o 5 M= &R E JIESNE |EEIJIE SsS
2| ZAlg ZFAlg
0.85mm(NO.20) 1 437.3 459.7 22.40 19.4% 19.4% 80.6% 59.8%
0.425mm(NO.40) 2 369.7 394.9 25.20 21.8% 41.2% 58.8% 43.6%
0.25mm(NO.60) 3 380.0 392.9 12.90 11.2% 52.4% 47 .6% 35.3%
0.106mm(NO. 140) 4 345 .1 358.9 13.80 12.0% 64 .3% 35.7% 26.5%
0.075mm(NO.200) 5 352.0 353.2 1.20 1.0% 65 . 4% 34 .6% 25.7%




CBRA & =
o AlFHZT E9 o Al A} 2016.3.10.
o Ay KS F 2320:2000 o 7]&AA} - HeHd HEE
O AFEE Lz (9w$7)) oA @ A A5
Z5 NAEE] (oAl (e AN wwA] Botr [2Ea a0l |sred | 540
A lzews| ™ A @ | @ | @ | @a) | @ | @ea | @
T (g)
317 | 40 9125.5 | 4670.8| 4454.7| 2199.21| 2.026 | 8.6| 1.866| 4
342 | 41 9375.7 | 4661.6| 4714.1| 2211.58] 2.132 8.6 1.963] 12
3X92 | 42 9514.5 | 4678.4| 4836.1| 2211.29| 2.187 | 8.6| <2.014] 15
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A2 5 H B YA
= T % qtlf A
o AT E9 o Algdx} 2016.3.14
Al o KS F 2320:2000 o 71&Adx  HLA 7
MAFES (97 A E 2 gEe
7] 01 2k
TR *%é;;’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
?gg F; 0 12.0 21.0 31.0 39.0 47.0 54.0 68.0 80.0 105.0 129.0
;Z]_
40 RICCEE 0 0.6 1.1 1.6 2.0 2.4 2.8 3.5 4.1 5.4 6.6
(kg f/
=] == ]_]:
?Mﬁ;ig; 0 0.060] 0.105 0.155] 0.195| 0.235| 0.270| 0.340| 0.399| 0.524|  0.644
f;g F; 0 23.0 40.0 63.0 84.0 109.0| 143.0| 184.0 252.0 334.0 411.0
;Z]_
41 RICCEE 0 1.2 2.0 3.2 4.3 5.6 7.3 9.4 12.8 17.0 20.9
(kg f/
=] == ]—T:_
?Mﬁ;ig; 0 0.115|  0.2000 0.315] 0.419| 0.544| 0.714] 0.919] 1.258 1.668]  2.052
?Lg F; 0 20.0 41.0 70.0  103.0 138.0| 173.0 243.0 310.0| 433.0| 547.0
=] == ]—T:_
49 ECRs 0 1.0 2.1 3.6 5.9 7.0 8.8 12.4 15.8 22.1 27.9
(kg f/
=
/s 0 0.100] 0.205 0.350] 0.514] 0.689| 0.864 1.213|  1.548] 2.162]  2.732
17 3 (2.5m) g'g <100 = 3.4% 5. Omm {L”g <100 =  3.9%
42 3 (2.5m) g'g <100 = 7.9% 5. Omm fézé <100 =  12.2%
92 3 (2.5m) g'; <100 = 10.0% 5. Omm fafé <100 =  15.0%
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ATTERBERG 3._"71|

%

o AFHE : E9 Algda 12016.3.11.
o AEH D KS F 2320:2000 o 71%1 o] 2} qﬁ_z B £
o AlFEFLE  F(HUS7]) o Al ¥ A HAEY :
2MSHA
Al 3l 1 2
27 H 5
S 2AH+HSEZA 189.33 181.64
S| 2H+0IEEZ 2 A 189.11 181.42
= 9 2 7 0.22 0.22
s 7 & A 187.95 180.19
of 2 Al 72 F A 1.16 1.23
& == H] 19.0% 17.9% 18.4%
M SHA
Al & B 1 2
= 5t 3 F 16 30
27 H 35
SI|2H + H2Z57 225 .4 257.14
E7|FH + 02224 | 216.21 247 .57
= 9 Z 7 9.19 9.57
s 7] & A 177.1 205.41
O E A B F 7 39.11 42 16
&b = H[(%) 23.5 22.7 23.0
4 N
O A SHA|
50
45
40
35
= 30
<k
o 25
110
ar 20
15
10
5
0
1.0 10.0 100.0
sh=H(W) %
N
Al M 1)
AMEH [ ME 2MXS
18.4% 23.0% 4.6



